U DY CENTIRE
Miscellaneous Assignment

Directions (Questions 1 - 5) : The following linegraph gives the percent profit
earned by two companies X and Y during the period 2006 - 2011. Study the line
graph and answer the questions that are based on it.

Heteupd eufl euemguLd 2006 — 2011-b SemiBeiled Bipleuand X wB@ID y  FLlQul

DTUSHMSH  DTSHHBH  UDTULHDSH  OFmewih  OBTHSIUILULL  aeTHBHEHDHSE)
allenLWieM b a|Lb.

Percentage profit Earned by Companies X and Y over Given years

Profit % = (Income)—(E%pendlture) 100
(Expanditure)
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If the expenditure of company Y in 2007 was ¥ 220 crores, what was its
income in that year?

Bpoleued Y &1 Ggevey 2007 b eumpLsHHed ap 220 Gzmg eeiled 9ICH
QUBLSHSHIGD QU(HLOTEILD 6161666 ?

a. 312 crores b.¥ 297 crores c.¥ 283 crores  d.I 275 crores

If the incomes of the two companies were equal in 2009, what was the ratio
of expenditure of Company X to that of Company Y in that year?
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2009 oub el B0 HBeUSIRIGeTE  eUHLOTEIIPD  Fob  eelled 96
ABLSHH X wBmid Y BoeuaisHear 0Fewe| alldsid eletent?
a.6:5 b.5:6 c.11:6 d.16:15

The incomes of the companies X and Y in 2010 were in the ratio 3 : 4
respectively. What was the respective ratio of their expenditures in 2010?
2010 ob ey X wBpILd Y HneuarsdHear  aumorammiseier aldlsn 3 ;4
aafled 9185 UBLHH60 SbBHBIeUahIGTET OFevey @ISHLID 6l6sTent?

a.7:22 b.14:19 c.15:22 d.27:35

If the expenditures of companies X and Y in 2006 were equal and the total
income of the two companies in that year be ¥ 342 crores, what was the total
profit of the two companies together in that year? (Profit = (Income) -
(Expenditure))

2006 oub oewiged X wBBID Y HpleuaisdHer 6Feve|deT Fo oBmid S
963 uBLHFH60 FHipeuamiseller OLTHEH eurHLTEID h 342 GCHMoHe 61660
B mpleuahiseier CTshd @eoTuid?

a.¥ 240 crores b.¥ 171 crores c.¥ 120 crores d. ¥ 102 crores

The expenditure of Company X in the year 2008 was ¥ 200 crores and the
income of this company in the same year was the same as its expenditure in

2011. The income of Company X in 2011 was:

2008 o Sewih Boeueid X 61 OFeve] ap 200 Gamgser wB@ID 9I6H
SLEWT960  BhHmIeIaTIHHe aubTeID 2011 b Spewngel D6CH  HimIeuesT S 6o
CFABGHF FIDIDTH 2 _6iTeng  elefled 2011 oub  Spewiged X HmIalerd a6
QU(THLDITEUTLD  6T65T60T?

a.3 465 crores b.¥ 385 crores c.¥335crores  d.¥ 295 crores

The centroid of a triangle divides each medians in the ratio
R (P&HCHTemisHH e HBHCHT.H mowiHmd HhHCaTLTaIg Lflegh aldlsb
a.1:2 b.1:3 c.2:1 d.2:3

The sides of a two similar triangles are in the ratio 2 : 3, then their areas are
in the ratio.

Bm agbarss (pHGaTemmiseier UbsRIGeTNa  aldHd 2 1 3. DiFHe
UFLILIeT6Y&HeT6sT & SHID

a.9:4 b.4:9 c.2:3 d.3:2

If one angle of a cyclic quadrilateral is 75°, then the opposite angle is
Al L BIBHIHHar @ CoTenishdHear oo 75° eaied DiHet 6IHT BCHbmentad e
Slo1eY
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a. 100° b. 105° c. 85° d. 90°

9. If the ratio of the height of a tower and the length of its shadow is 3:1,
then the angle of elevation of the sun has measure
R GCamursHdHlet 2 Wb BBID SIHeT [HIoevleT Hemd idlweuBplen alldlsbd
J3:1 atafled @ feflet gBBHEGHTERID eTeileueTey?
a. 45° b. 30° c. 90° d. 60°

The solution of (2x - 1)2 =9 is equal to
(2x -1)2=9 e FWOLTL 19T STOUTEOIH THBSHF &FLOD?
a. -1 b.2 c.-1,2 d. none of these

Graph of a linear polynomial is a

a. straight-line  b. Circle c. parabola d. Hyperbola
b Gpfluw FLoETUTL 1965 GUEDTLIL LD LG LD.

a. CrTsBsT(h b. euLib C. LJGUNGITUILD d. e@uyeuenemuib

Find the value of k for which the quadratic equation kx2- (8k + 4) x + 81 =0
has real and equal roots?

kx2- 8k + 4) x + 81 = 0 63 (HLIQFLOGTLITL 96T  (LPEVUBISHET ©_6WIENLD  LOBHILD
g eTedfled K 631 wdiing?

1 1
a. k=—(or)k=-4 b. k==Z(or)k=4
16( ) 6( )

1 1
c. k=—(or)k=4 d. k=—(or)k=-6
16( ) 16( )

32,542, 742,942........ This sequence is called

a. AP b. G.P c. H.P d. None of these
32,542, 742, 92 oI OHTLT euflewguimeng

a. &LBSH OHTLT euflens b. QuEEGH OFHTLT aiflens

C. BmFHOFHTLT auflens d. BeuBmiei ergHia|Ole0m6L

Determine the general term of an A.P. whose 7t term is —1 and 16t term is
17.

QM S&L(BSH OTLTalemguler 7-eugh o min] — 1 BmLd 16-6uk o miy 17
G660, DIHGI OLITH o MILIEnLISH HTEHISH.

a.2n+15 b.2n-15 c.n-15 d.n+15
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A mother divides X 207 into three parts such that the amount are in A.P.
and gives it to her three children. The product of the two least amounts that
the children had X 4623. Find the amount received by each child.

Qm H1UI FHaelid o een X 207 & awml BFH OHTLT aufledgulsd Siemioujomm
cpedipyl  umemseniall  Ufleas SHHIH (WM GUHmSIEhSGD  CaThds
ol e, SeuBPled B FAw CsTansseier GLBSSBLE I 4623 SyEID.
@6UOUT(H GLWHMSUID OUBID OHTHHUTENTDH  HT6HISH.

a. 57,59, 61 b. 77,79, 81 c.67,69,71 d. 65,69, 73

How many terms of the series 1 + 5 + 9 + ... must be taken so that their sum
is 190?

1+5+9 +. a3 OFHTLM6L 61HHMT 2 BIILHN6TSH Fnl I9&T60 FnBHev 190
HlemL_dGL?

a. 10 b. 11 c.12 d.9

The 104t term and 4t term of an A.P are 125 and 0. Find the sum of first 35
terms.
R &LBSH OpTLTeuflenguler 104-eugh 2o miln] BBID  4eud 2 mIlLSHei
wesBGus 125 1woBpid 0. HHESTLTauMmaulle (PpHed 35 o miiseler gn{HHe0
SBITE0T .

a. 1225 b. 615 c.614.5 d. 612.5

Find the sum of all natural numbers between 602 and 902 which are not
divisible by 4.

602 — &g 902 S LB 4 9O AUGULTSH Buled 6TenIHele In{HdH6e0
BTG5,

a. 1,68,348 b. 16,848 c. 16,68,548 d. 1,68,448

In a Geometric progression, the 4th term is g and the 7t term is 2674 Find

the Geometric Progression.

R CQUmBGHS CHTLTaufmaulsr 4-aukh o mili| gmm@m Tougdl o M %
a6y, DIHHL CLBHEGHSH CHTLT euflengenuls SHTewlsm.
a.2,4,8,16,.. b.3,2,2,..  c4 28 |

3 36

Find x so that x + 6, x + 12 and x + 15 and are consecutive terms of a
Geometric Progression.

x+ 6, x+12 wBmgb x + 15 eaguer @m OUHIGHH BT Teuflenaules
CHTLTFFWITeT i)l 2 MILILSH6T 6leled X- uledl OFHLINLS HTEwISb.

a. 18 b.9 c.-18 d.-9
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A person saved money every year, half as much as he could in the previous
year. If he had totally saved X 7875 in 6 years then how much did he save in
the first year?

QM BUT ealGeautT SLewIBD DSBS WhHmdw e CFsHs OHTensuled
utHenwF GFsAmTT. 6 opemiBoeied et I 7875 — mF GaFlbAmnT ereafev,
(PSH60 LewTged T CFLSHFH OFHTend 6l6leleTa]|?

a. 5000 b. 2500 c. 4000 d. 1000

Find the sum to infinity of 21 + 14 + %8 +

LetauBd (geysm COFHTLTHefer gnpdHeo srewis. 21 + 14 + ? + ..

a. 65 b. 64 c. 63 d. 62

If1+2+3+....+k=325 thenfind 13+ 23+ 33 +
1+2+3+....+k=3256afle0 13+23+ 33+ + k3 ullesr gy smeics.
a. 106625 b. 105625 c. 104625 d. 108625

Find the sum of the following series 103 + 113 + 123 +
Uesteumd OFHTLTHeMer dmbBHenwevd Smemis. 103 + 113 + 123 +
a. 420625 b. 42075 c. 420665 d. 460625

The next term of the sequence i, l,i,i
16 8 12 18

aaiiB GFHTLT euflenguler DIGHH 2 MILIL]

b L c. d L
27 81

3
C
13
C| A | B |C
22 | 23 1 24 | 25
C B | B | B
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